
Find the difference
2nd grade: Subtraction

Subtracting Single Digits from Double Digits (no carry)

32 - 1 =1.) 44 - 2 =2.)

52 - 1 =3.) 63 - 3 =4.)

72 - 2 =5.) 85 - 4 =6.)

98 - 6 =7.) 34 - 3 =8.)

47 - 5 =9.) 59 - 7 =10.)

70 - 5 =11.) 83 - 3 =12.)

91 - 1 =13.) 65 - 4 =14.)

77 - 6 =15.) 87 - 6 =16.)

56 - 4 =17.) 64 - 2 =18.)

79 - 7 =19.) 86 - 4 =20.)



Answer page
2nd grade: Subtraction

Subtracting Single Digits from Double Digits (no carry)

1.)

2.)

3.)

4.)

5.)

6.)

7.)

8.)

9.)

10.)

11.)

12.)

13.)

14.)

15.)

16.)

17.)

18.)

19.)

30.)

31
42
50
60
70
81
92
31
42
52
65
80
90
61
71
81
52
62
72
82

List of Answers


